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BEA 0B0-104 : Practice Test

Topic 0, A
A

Question No : 1 - (Topic 0)

Consider a WebLogic Domain with an (external) LDAP Authentication Provider and multiple
Authorization Providers. The Default WebLogic Auditing Provider is enabled. Authorization
Providers can return a limited set of responses to requests for resource access. What are
the possible responses from an Authorization Provider?

A. PERMIT , DENY

B. OVERRIDE , PERMIT , DENY

C. CONDITIONAL , PERMIT , DENY

D. PERMIT , DENY , ABSTAIN

E. PERMIT , PERMIT_ONCE , DENY_ONCE , DENY

Answer: D

Question No : 2 - (Topic 0)

What happens to a JMS message that times out in a Queue?

A. The message is immediately delivered to the consumer.

B. The message is immediately returned to the producer.

C. The message is handled according to the expiration policy that is defined for the Queue.
D. The message is sent to a distributed destination.

E. The message is persisted to a JMS store.

Answer: C

Question No : 3 - (Topic 0)

A Web tier cluster is being created that will provide HttpSession failover with reasonable
safety and good scaling ability. The HttpSessions will contain serialized Java objects. Eight
WebLogic server instances will be running on four physical machines; there will be two
WebLogic server instances per physical machine. Part of the cluster, containing two
physical machines, is located in one room; the other two machines are located in another
room. In this cluster, the Administration Server is located on its own physical machine. If
the Administration Server is not running, how can the Managed Servers start?

A. The Managed Servers must run in Managed Server Independence (MSI) mode.
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B. The domain files must be copied to each Managed Server.
C. The MSI file must be present locally on each Managed Server.
D. A Managed Server CANNOT be started without an Administration Server.
E.Aand C

Answer: E

Question No : 4 - (Topic 0)

In order to migrate a failed Administration Server to another machine, which of the following
is required?

A. Application data must be copied to (or shared with) the new machine.

B. You must use the NodeManager MIGRATE command, through weblogic.Admin or JMX.
C. Configuration and security data must be copied to (or shared with) the new machine.

D. Each Managed Server must be shut down and restarted.

E.Aand C

Answer: E

Question No : 5 - (Topic 0)

Which of the following methods can CANNOT be used to determine the version number
and service pack of the currently-executing WebLogic Server instance?

A. The WebLogic Console
B. The version.txt file

C. weblogic.Admin

D. The Server log
E.Aand B

Answer: B

Question No : 6 - (Topic 0)

To configure a Network Channel, which of the following are required?

A. Name, Multicast Address, Listen Address
B. Name, Protocol and Listen Port
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C. Name, Listen Address and Listen Port
D. Name, Multicast Address, Listen Address and Listen Port
E. Name, Protocol, Listen Address and Listen Port

Answer: E

Question No : 7 - (Topic 0)

Which of the following accurately describes a message producer sending messages to a
JMS Distributed Queue with round-robin style Load Balancing enabled?

A. All messages are sent on all member queues.

B. All messages are sent on one queue.

C. Messages are distributed, round-robin style, among the member queues.

D. The first message is distributed, round-robin style, among the member queues;
subsequent messages are sent on one queue.

E.AandC

Answer: C

Question No : 8 - (Topic 0)

Which of the following is NOT a security feature of NodeManager?

A. Limiting connections to specific hosts
B. Password expiration

C. Transport security with SSL

D. Digital Certificates for authentication
E. Reverse DNS for host verification

Answer: B

Question No : 9 - (Topic 0)

A cluster is defined that consists of six WebLogic servers running an enterprise application:
a Web application and a JAR file with some EJBs. In-memory session replication is
enabled for the Web application and the EJBs. All the EJBs are clusterable (home and
remote stubs). The round-robin algorithm is used to balance the load across the servers. If
the Web application acquires a remote interface to a Stateless Session Bean and calls one
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of its methods three times, which of the following is true?

A. Each method call is invoked on an EJB instance that is on the same server as the Web
application

B. Each method call is invoked on the same EJB instance, on the same server as the Web
application.

C. The method calls are distributed, round-robin style, among the servers.

D. The behavior depends on the idempotence of the EJB's method.

E. The behavior depends on whether JNDI replication is enabled.

Answer: A

Question No : 10 - (Topic 0)

Why would you consider configuring a Domain-wide Administration Port?

A. To segregate administrative traffic

B. So that each server does not require a unique administration port
C. To force SSL access to the WebLogic Console

D. To allow VPN access to the Administration Server

E.AandC

Answer: E

Question No : 11 - (Topic 0)

Which of the following is a valid WebLogic server error number?

A. ERROR-000351

B. SERVER-ERROR-000351
C. WLS-000351

D. BEA-000351

E. CRITICAL-000351

Answer: D

Question No : 12 - (Topic 0)

A Web application is deployed from a WAR file named AppA.war . How can you set the
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